



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ ค่ะแนน: \_\_\_\_\_

$$(-3)^{(-1)} + (-1) =$$

$$(-1)^0 + 8 =$$

$$5^{(-1)} - 1 =$$

$$(-5)^0 - (-10) =$$

$$(-1)^2 + 10 =$$

$$(-5)^2 + 8 =$$

$$(-1) + 5 =$$

$$9^2 - (-8) =$$

$$9^{(-2)} + 6 =$$

$$4^{(-1)} - (-3) =$$

$$(-2) + (-9) =$$

$$9^0 + (-3) =$$

$$7^{(-2)} + (-9) =$$

$$5^0 - 3 =$$

$$(-5)^2 + (-10) =$$

$$(-2)^{(-1)} + 10 =$$

$$2^{(-1)} + (-6) =$$

$$(-7)^{(-1)} + 10 =$$

$$(-9)^2 - 3 =$$

$$6^2 - (-4) =$$



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$(-3)^{(-1)} + (-1) = \left(-\frac{4}{3}\right) = \left(-1\frac{1}{3}\right)$$

$$(-1)^0 + 8 = 9$$

$$5^{(-1)} - 1 = \left(-\frac{4}{5}\right)$$

$$(-5)^0 - (-10) = 11$$

$$(-1)^2 + 10 = 11$$

$$(-5)^2 + 8 = 33$$

$$(-1) + 5 = 4$$

$$9^2 - (-8) = 89$$

$$9^{(-2)} + 6 = \frac{487}{81} = 6\frac{1}{81}$$

$$4^{(-1)} - (-3) = \frac{13}{4} = 3\frac{1}{4}$$

$$(-2) + (-9) = (-11)$$

$$9^0 + (-3) = (-2)$$

$$7^{(-2)} + (-9) = \left(-\frac{440}{49}\right) = \left(-8\frac{48}{49}\right)$$

$$5^0 - 3 = (-2)$$

$$(-5)^2 + (-10) = 15$$

$$(-2)^{(-1)} + 10 = \frac{19}{2} = 9\frac{1}{2}$$

$$2^{(-1)} + (-6) = \left(-\frac{11}{2}\right) = \left(-5\frac{1}{2}\right)$$

$$(-7)^{(-1)} + 10 = \frac{69}{7} = 9\frac{6}{7}$$

$$(-9)^2 - 3 = 78$$

$$6^2 - (-4) = 40$$